Routers




Routers

Distribute work in between many actors

val = Routers.pool(5) (workerBehavior)

.withRandomRouting()
.withBroadcastPredicate(_.length > 11)

val = ServiceKey[String] (" logWorker")

val = (1 to 5).map(i => context.spawn(...)

workers.foreach(worker => context.system.receptionist ! Receptionist.Register(serviceKey, worker))

val = Routers.group(serviceKey)
.withRoundRobinRouting()

Pros/cons

«  pool routers: easy to use

* group routers: harder to set up, more flexible at runtime, hard to remove routees
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